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Correct Marks : 1 Wrong Marks : 0

1 0 0

If A=|1 0 1| thenA®®=
0 1 ¢

Options:
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1 0 0
2b 1 0
pVES B )
24 1 0
3 nl24 0 1
1 0 0
50 1 0
4. % 150 0 1

Question Number : 2 Question Id : 80089419247 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ax by cz XN 2

fa+b+c=0, bz cx ay|=k|z X Y[=abe(x®+y®+2%) —xyz(a® + D3 +¢P), thenk =
cy az bx yzzx

Options:

1 % XyZ

> abe

xX+vyv+z
3. %
4, ® 0

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Question Number : 3 Question Id : 80089419248 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks: 0

Consider the statements with reference to the 3X 3 matrices A and B and kisa constant .

I) A=kB=|A|=k|B|

1) adj (AB)=adj(B)adj(A).

ITT) for a matrix C. if A=BC= C=B~'4

Which of the above statements are correct?
Options:

1% Only I and II are correct

~ Only II 1s correct
2.

Only III 1s correct

3. %

~ Only II and III are correct
4, ®

Question Number : 4 Question Id : 80089419249 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the solution of the system of equations x— v+ 2=4.2x+v-3z=0.x+v+2=2 15 (x,),2).

then x+y+z=

Options:

1.“0
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2

3.+

Question Number : 5 Question Id : 80089419250 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3x—2 A Bx+C
(x+1)(2x2+3) x+1 2x243

thenA+ B+ C =

Options:

L, 2
1, %

2.\/_4

Question Number : 6 Question Id : 80089419251 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

a*+a %
2

I y= .Xx>0 anda>1thenx=

Options:

ay —a-y
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Question Number : 7 Question Id : 80089419252 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

If q2019—x . 2021x _ x+2021, ;2019% thap y =

Options:

lngig_] b
=

1. %

log a, b
2. % o

~log

b, A
3. @

log .a, a
4, % ° Q)

Question Number : 8 Question Id : 80089419253 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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sinf) —gcos
If tan@ = £ then £ an( Feny
q psinf +qgcost

Options:
P—q
{8 P+q

P’ —q
y L

2

p-q
3P T4

4. % P79

Question Number : 9 Question Id : 80089419254 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

If the area of a triangle is 75 sq.cm and two of its sides are 20 cm and 15 cm, then the included angle between the
sides 1

Options:

60° or 120°

1. %

- 0
2-_\5/30 or 150

- 459 or 1359
e

4 % 90°%or 135°

-
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Question Number : 10 Question Id : 80089419255 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If cosh 2x = 99, then cothx =

Options:
B

]
1.8 7V

4_ o 2\4"?

Question Number : 11 Question Id : 80089419256 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A complex number ‘z ‘having least modulus value and satisfying [z — 2 + 2i| = 1 1s

Options:

(2—;‘—,2..)(1“)

1. ™
. (2+5) @+
i (2-%)a-D
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. (2 +%§)(1—i)

Question Number : 12 Question Id : 80089419257 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

(14+i)x—2i  (2-3i)v+i
1+i e, )y

e 3 — Lthenx+y=

Options:
75
¥, . S

18
2.8

=/

66
4. & 23

Question Number : 13 Question Id : 80089419258 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

i' \/Efi"ﬁ :Jg_?__:6

:“l:l:

Options:

1.¢ —2
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Question Number : 14 Question Id : 80089419259 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the equation of the straight line X +y+ 1 =0 1s changed into the formx cos .+ ysin . =p. (p>0). then ¢ =

Options:

Question Number : 15 Question Id : 80089419260 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
GCDof p. q.ris 1. If the line px +qy +r = 0 s passing through the point (4,3) the sum of the intercepts

made by the line on the coordinate axes 1s 14, thena value of p+q+r =

Options:
7, ® —25
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—23

2,
L 17
4. % 31

Question Number : 16 Question Id : 80089419261 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The distance between the parallel lines3x—4v+20=0.3x-4v+5=0 1s
Options:

15 units

1. %

20 units

e

3 @ 3 units

5 units
4, %

Question Number : 17 Question Id : 80089419262 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The distance between the centers of the two circles touching the coordinate axes and the line 3x +4y = 12 in the
first quadrant is

Options:

_ &.f3
1. % 5V3
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Question Number : 18 Question Id : 80089419263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The equation of a tangent to the circle x% + y% — 2x + 8y — 23 = 0 having slope 3 is

Options:

1 % 6x —2y+25=0

, % 3x—y+27=0

;% 3X—y+23=0

L@ 3X—y+13=0

Question Number : 19 Question Id : 80089419264 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The interval in which the value of /. lies, if the line 3x — 4y = cuts the circle x* + y* - 4x - 8y=5 at two points is
Options:

(15. 35)

1. 8
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Question Number : 20 Question Id : 80089419265 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

nx
For A= (0 Lim (ME ) =

n—oo \X+Aelx

Options:
" 1. whenx>0

A

— . Whenx<0
2. ¥ %

4’4

— . Whenx>0

L X

3. %
4 % 0. whenx € R

Question Number : 21 Question Id : 80089419266 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let f be a differentiable function such that f(x +y) = f(x) f(y),Vx,y e RIf f'(0) = -3 and f(5) =9,

then f'(5) =
Options:
| ol

Question Number : 22 Question Id : 80089419267 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

R xd%y -
Ify =x" then v +1
Options:

_ X
1 ®
2
- 5
2. %

y(1+ logex)?
3. ¢

. (1+ logex)

Question Number : 23 Question Id : 80089419268 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The angle of intersection between the curves x2 + y? = 36y2 and x? — y? = 36, is

Options:

n

1.% 6

k]

WS

Question Number : 24 Question Id : 80089419269 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If M is the slope of a tangent to the curve ¥ = 1 + x?, then

Options:

- Im| > 1

> % m>1

m>—1

4 Im| <1

Question Number : 25 Question Id : 80089419270 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

. T 4 . -, 1 7
The maximum and minimum values of the function f(x)=x"~18x" +96x+4 are M and

m respectively. then M-m=

Options:

32

1.

Question Number : 26 Question Id : 80089419271 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~ RN e O B
Ifu = log (I5+y5). then (1 ) 6y) =
Options:

u
1.8 2
-2
2.V
log(u)
4.% 1
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Question Number : 27 Question Id : 80089419272 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Iff(t) =1+t%+t*+t%then [ f(tanx)dx =

Options:

)2 \S 7
=t (tanx) 4 (tanx) n (tanx)

: 4 o
1. % 3 - 7

(tan x)®
5

tan x + < o ¢

2.

(tanx)®

(tanx)? + +c

e, 9

AT ] 5 7
tall_1‘+[ta];x] _l_{tal;x_] +{tar;x] F.

Question Number : 28 Question Id : 80089419273 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks: 0

If f (:(_l +x)sinx+ (1 —x) cos x) dx= A(sinx - cosx) + f(x)(sinx + cos X) + C. then A f(x)=

Options:
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Question Number : 29 Question Id : 80089419274 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

5 4 ]. |
If j ve dx=—¢" f(x)+c then f(2)=

Options:

Question Number : 30 Question Id : 80089419275 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Lim = (Sill (1) + sin (E) + sin (i) . sin('l'.}) =
n—oo I n n n =i
Options:

1 % cos(1)

5 % Cos (14)

2sin? (%)

3.+

~ log2
4. %
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Question Number : 31 Question Id : 80089419276 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The area bounded by the curve y = (x — 1)(x — 2)(x — 3) and x-axis lying between x = 1 and x = 3
1S

Options:

3.9 2

Ll

Question Number : 32 Question Id : 80089419277 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The area of the region bounded by the curves y=sinx and y=cos x. x-axis. x=0 and :~:=-: 1S
Options:
. . . m
twice the area between y = (sin X —cos X). x-axis. x=0 and 357

1. %

. ; n
equal to the area between y = sin X. X-axis. Xx=0 and Xz
2. %
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equal to the area between y = (sin X +¢0s X). X-axi1s. X=0 and x=

’ " " T
twice the area between y = sin X. X-axis. x=0 and x=

4,

n
2

Question Number : 33 Question Id : 80089419278 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

The value of a function f at different points are given in the following table

1.414

1.732

| S
| -

The approximate value of jﬂﬁ f(x)dx =

Options:

.y B516

, o 9716

3 % 9.125

4 % 9:203

Question Number : 34 Question Id : 80089419279 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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ol | —=

; ; . ; d? d
If p and q respectively are order and degres of the differential equation  y* (ﬁ) +3x (d—-i) =sin x-12y?

. thenpq =

Options:

5
1.% 7

Question Number : 35 Question Id : 80089419280 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

- : R S Jkes ; o il x-y .
The equation of the curve passing through the origin and satisfying the differential equation Ey = E 18

Options:

x% —y%—2xy =
1.

X2 —y?+2xy=0
2.

L X2 +y2—2xy=0
3. % : '

x2+y2+2xy=0
4. % ‘

Question Number : 36 Question Id : 80089419281 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
4 = ‘ ; . ay _
The solution of the differential equatmnd—i —ky =0,y(0) = 1. approach zero as x— oo, when

Options:

k=0

_ k1s any real number
4, %

Question Number : 37 Question Id : 80089419282 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. - . o ; . dy r
The general solution of the differential equation e +y=x3y%is
Sl :

Options:

- (5x3 —cx®)y® =2

o (OX* =)y =2

2 w
2 % (5x° + cx3)y® =2
i o (5x% +cx”)y> =2

Question Number : 38 Question Id : 80089419283 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: . d : . o .
If the particular integral of — —6 d—z + 13y = 8e¥*sin2x is equal to f(x) times the particular

dy
dx?
. o dy .
integral of =2 +4y = sin2x. then f(x) =
Options:
| plX
1. *
2. v 8e%
3 % 9sinZx
. 8e3*sin2x
4. %

Question Number : 39 Question Id : 80089419284 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

d?y
dx3

The particular integral of

Options:

- —Xsin2x
v

—X sin2x
2.8 @

—X C0S2X
3.8 X

—X COS 2X

+ 4y = —4 cos 2x 18
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Question Number : 40 Question Id : 80089419285 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Laplace transform of the function f(t) = [t — 1|+ |t + 1], t = 01is

Options:

Ly 7]
~(s+e™)
1.% S

2 -3
=(e4eY

2.9

Z(s—e™)

Question Number : 41 Question Id : 80089419286 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
p.

A

25+5
If L{F(t)} =——

Options:
25 +10

s“+4s—12
1. ¢

: then L | F(2t)| =
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Question Number : 42 Question Id : 80089419287 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Iff(t)=sint+ (sin2t —sint)u(t — m) + (sin3 t —sin 2 t)u(t — 2m) where u(t - a) is a unit step

function . then f(t) whenm < t < 2mis
Options:
1 % St
. sin 2t
4
% Sin 3t
% Sint + sint

Question Number : 43 Question Id : 80089419288 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0,0<t=<s1
The Laplace transformof f(t) ={(t—1),1<t <2
1. £>2
Options:
1. %

»
collegedu nia
o - India’s largest Student Review Platform

el



E—S_,E—ZS
e 2
E-S_E-’ES
s
3.¢
e-zs_e*s
4.% s

Question Number : 44 Question Id : 80089419289 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

7! \ 3s+1 |

| (s+1)* |

Options:
1

6

b | —

N |~

3.

| W

r=e F(t) thenF(1) =

-
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Question Number : 45 Question Id : 80089419290 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If L(f(t)) = { } . than f{t) is

(s+4)3/2
Options:
LI
3&9 o
P
4 3
i
B\Et
2 ™
A o8
37w © t /2
3,

Question Number : 46 Question Id : 80089419291 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If y = y(t) satisfies the differential equation y" + 2y" — y' — 2y = 0 together with the conditions

y(0) =y'(0) = 0,y"(0) = 3, then the Laplace transform of y(t) is equal to

Options:

3
1. 8 (s2-1)(s—-2)

3

(s2-1)(s+2)
2.V
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4,

3

% (s2+1)(s+2)

3
g (52+1)(s-2)

Question Number : 47 Question Id : 80089419292 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Let f(x)=¢™ in (-7.7) and f(x + 27) = f(x), Vx. If the Fourier series expansion of the function is

3

i
re

f(x)=" (a cosnv+b smix)thena, =

n=()

Options:

sinh 27
ST

sinh 27

s ik

sinh 27

—

4- ‘w/ e 4

Question Number : 48 Question Id : 80089419293 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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([ 0if-r<x<0

g Al f(x+2n) = f(x),¥x and f(x) = Xoep(a, cosnx + b, sinnx) , then

Iff(x)
by +By + by =

Options:
1o % 0

Question Number : 49 Question Id : 80089419294 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If f(x) is periodic function defined on -p < x < p. then the coefficient of cos ? in the Fourier series
expansion of f(x)1s

Options:

1 g
: f_p f(x) cos nxdx
1 p : nx
z—ppr f(x) cos -;dx

e . nmx
S 3 C — '
pfu f(x) cos - dx
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¥ o :
EJ—pp f(x) cos %d}:
4. &

Question Number : 50 Question Id : 80089419295 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If f(x) = |cosx|,x € (—m m) and f(x) = Yn=o(@, cosnx + b, sinnx), then ay + by =

Options:
.
1.% =
£
m
2.V
d
3. 8%
e
4, % ™
Physics
Section Id : 800894377
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 25
Enable Mark as Answered Mark for Review and Yes
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Clear Response :

Sub-Section Number : 1
Sub-Section Id : 800894431
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 80089419296 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The dimensional formulae of the following pair of physical quantities are same

Options:

~ Heat and Temperature
1. %

Work and Power

Work and Energy

Power and Energy
4. %

Question Number : 52 Question Id : 80089419297 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

In the phenomenon of photo electric effect, the number of photo electrons emitted
is proportional to

Options:

P The intensity of radiation
1. %

> = The frequency of radiation

»
collegedu nia
o - India’s largest Student Review Platform

el



. f

4,

« The velocity of incident radiation

& The work-function of cathode material

Question Number : 53 Question Id : 80089419298 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The superconducting state is perfectly

Options:

Diamagnetic
1. ¢

~ Paramagnetic
2. 4

Ferromagnetic
3, ¥

- Non-magnetic
4, %

1 nature

Question Number : 54 Question Id : 80089419299 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An 1deal gas at temperature T 1s compressed through an 1sochoric process until 1ts pressure 1s doubled
What 1s the final temperature

Options:

.
gy

-
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Question Number : 55 Question Id : 80089419300 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following lists

List-1 List-ll
A. lsochoric process I. Pressure remains constant
B. Isobaric process ii. Temperature remains constant
C. Isothermal process ili. Heat remains constant
D. Adiabatic process iv. Volume remains constant
Options:

" A-i, B-ii, C-iii, D-iv

5 % Adv, B-ii, Ciii, D-i

5 % Adv, B-iii, C-ii, D-i

, A-iv, B-i, C-ii, D-iii

Question Number : 56 Question Id : 80089419301 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks: 0

The difference between two specific heats, C, and C; for a gas represents



Options:

Increase in kinetic energy of gas molecules

o

.. Increase in potential energy of gas molecules

e

> External work done

4 % Internal work done

Question Number : 57 Question Id : 80089419302 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Two vectors of equal magnitude R make an angle 60 degrees with each other. What 1s the magnitude
of their resultant?

Options:

1. % R2
, x 2V2R

3. % V2R

V3R

4.9

Question Number : 58 Question Id : 80089419303 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
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If i and j represent unit vectors in East and North directions, then the vector i —j is in the
direction of

Options:

.. North-East
1. %

, w North-West

3  South-East

4. % South-West

Question Number : 59 Question Id : 80089419304 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If 6 is the angle between two vectors g and j. then | - 5| . l a X 5| when 6 1s equal to

Options:

1. %0

- |8

2. v

b | S

Question Number : 60 Question Id : 80089419305 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

A stone of mass 10 gm is horizontally thrown from a cliff of height 500 m with an initial
velocity 100 m/s. Time taken to reach the ground. [ Take g = 10 m/s*, and neglect air
resistance .

Options:

|« VBOs
2. & 40 s
3 % 20 s

4_J105

Question Number : 61 Question Id : 80089419306 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The maximum height a football reaches 1f 1t 1s kicked with a velocity 40 n/s at an angle 30 degrees
with the horizontal. (Take g=10mvs)

Options:

60 m
1, %

40 m

20m
3.¢

10 m
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Question Number : 62 Question Id : 80089419307 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following produces least friction?

Options:
1 Sliding friction

_ Composite friction
Ly

3 Rollingfriction

Static friction

4. %

Question Number : 63 Question Id : 80089419308 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two cars of unequal masses, having similar tyres, are moving on horizontal surface with the same initial
speed. The mmimum stopping distance 1s

Options:

| smaller for lighter car

5 % smaller for heavier car

% 1 depends on the volume of the car
e

4 SAME for both the cars
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Question Number : 64 Question Id : 80089419309 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. What is the work done by an engine which lifts a mass of 100 kg through a height of 10 cm
[ Take g = 10 m/s?]

Options:
i 100 J

1000]

_ 10,000 J
C

1]

Question Number : 65 Question Id : 80089419310 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If a light body and a heavy body have equal momentum, then
Options:

o The lighter body has greater energy than the heavier body

The lighter body has lesser Kkinetic energy than the heavier body
2"

The kinetic energy of the lighter body is equal to the kinetic energy of the heavier body
3. "

4 ® The kinetic energy of both the bodies are independent of momentum
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Question Number : 66 Question Id : 80089419311 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In simple harmonic motion. the restoring force must be proportional to

Options:

_— Amplitude

5 % Frequency

.. Velocity

3. .

~ Displacement
4. v

Question Number : 67 Question Id : 80089419312 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The time period of the particle executing simple harmonic motion as per the equation

x=25m)sin[ Qnsh)t+ n/2]

Options:

1.¢
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Question Number : 68 Question Id : 80089419313 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the length of a simple pendulum that has a period of 10s ?

Options:

24.84 cm

2.484 cm

2484 m

24.84 m

Question Number : 69 Question Id : 80089419314 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The intensity of sound is measured in the units of

Options:

Joule

Ampere
2, %

3 Decibel

4 w Volt
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Question Number : 70 Question Id : 80089419315 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Sabine the reverberation time is

Options:

Proportional to the volume of the hall and inversely proportional to the total absorption
1. ¢

5 % Proportional to the total absorption and inversely proportional to the volume of the hall

2 % Proportional to both volume of the hall and total absorption

i Independent of volume of the hall and total absorption
e

Question Number : 71 Question Id : 80089419316 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

'hen the deforming forces are removed. if a body remains in the deformed state and does not even
When the deforming forces are removed. if a body ren the deformed state and does not ey
partially regain its original shape it is called

Options:

Elastic body

5> % Perfectly elastic body

3  Inelastic body
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4 Plastic body

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 72 Question Id : 80089419317 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The viscosity of a gas

Options:

Decreases with increase in temperature
1, %

5 Increases with increase in temperature

5 | Is independent of temperature

4 % 1s independent of pressure for very high pressure intensities

Question Number : 73 Question Id : 80089419318 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Ohm’s law 1s not applicable to

Options:

_ DC circuits

1. %

5> % High currents
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3. % Small resistors

4« Semiconductors

Question Number : 74 Question Id : 80089419319 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assume that the current through resistor 500) i the given circuit is zero. the value of R 1s

Options:

1JSOQ

2. » 00

3, % 20Q

4 % 1000

Question Number : 75 Question Id : 80089419320 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The force of attraction between the magnetic poles of strength my and mj separated by a distance *d” in

free space 1s gtven by

Options:
F= U mqms
4t d?

F -y &”11”12

5 W 4 d?

F = Lo MM

2t d?
3. %
F= Ho_d%
4 ® 47t m;m,
Section Id :
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Number of Questions :
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800894378
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Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 80089419321 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
According to Paulis exclusion principle. two electrons in the same orbital contains
Options:

~ Vertical spins

1.9

> % Angular spins

Same spins
3. %

T, Opposite spins

Question Number : 77 Question Id : 80089419322 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

In the formation of nitrogen molecule. the number of electron pairs shared between the two nitrogen atoms is

Options:

1 % Two

>  Three

One

4 % Four
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Question Number : 78 Question Id : 80089419323 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the redox reaction of hypo and Iodine, the oxidation number of sulphur atom changes from

Options:
+Z whib
1. ¢
Joy g T
5 % T2510 2.0
., +20to+3.0
3.%

4 % 1010420

Question Number : 79 Question Id : 80089419324 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

When the Phenol and water mixed together. the formed solution is called

Options:

1 % Homogeneous

>  Heterogeneous

3 % Colloidal

Azeotropic

w
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Question Number : 80 Question Id : 80089419325 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many grams of anhydrous oxalic acid 1s required to prepare one liter of 0.1 N oxalic acid solution?

9.0 grams

2, %
3 ¢ 4.5 grams

0.9 grams

Question Number : 81 Question Id : 80089419326 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the sulphate 1on concentration in a solution of Al(SOy); 15 0.25 M. the concentration of Aly(SOy); in the

solution 1
Options:
0.250 M

1. "

0.0625 M

0.0833 M
3, v

0.125M

4. %
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Question Number : 82 Question Id : 80089419327 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of species represent as conjugate Acid base?

Options:

HCL HxO

1. %

H;PO4. H;O™

o HSO03, 505"

% H,COs, COr

Question Number : 83 Question Id : 80089419328 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

From the following. choose the correct [H'] of a NaOH solution in M. if its pOH is 11.3

Options:

1 & 22197

5 2.7x 103

- 2.7x101
3. %

6.2x10°
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Question Number : 84 Question Id : 80089419329 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hydrochloric acid 1s a strong acid. This means that

Options:

i o HC1 dissociates completely in to H™(aq) and Cl (aq) when it dissolves in water

> % HC1 does not dissociate at all when it 1s dissolved in water

3 % HC1 produces a gaseous product when it 1s neutralized

_ HCI cannot be neutralized by a weak base

4. %

Question Number : 85 Question Id : 80089419330 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The impurities associated with mineral used in metallurgy are called

Options:

Flux

1. %

> « Gangue
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Question Number : 86 Question Id : 80089419331 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

German silver 1s an alloy of

Options :

1 ® Ag.Cu. Zn

Ag. Cu, Au

3. ¢ Cu, Zn, Ni

4 % Cu. Zn. Fe

Question Number : 87 Question Id : 80089419332 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The degree of dissociation of weak electrolytes 1s

Options:

IV
o
-]
©
o

<10%
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Question Number : 88 Question Id : 80089419333 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With reference to Faraday's second law, the weights of different substances deposited by the passage of the same

quantity of electricity. are proportional to their

Options:

T

., Current supply

£.»

3.

4. %

, Chemical equivalent weights

% Chemical equivalent density

Molecular Weights

Question Number : 89 Question Id : 80089419334 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

A zinc rod 15 placed in 0.1M solution of zinc sulphate at 25°C. Assuming that the salt 1s dissoctated to the
extent of 95% at this dilution, The potential of the electrode at this temperature is (E

0.095 =-1.0223).

Options:

1 % —076V
> & T076V
. -0.79V
4 ® T079V

=-(.76 V and log

-
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Question Number : 90 Question Id : 80089419335 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following does not corrode when exposed to air?

Options:

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 91 Question Id : 80089419336 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Which metals from the following can provide cathodic protection to Iron?
Options:

1 % Zn and Cu

> % Al and Cu

% Al and N1
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4. Al and Zn

Question Number : 92 Question Id : 80089419337 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
The hardness of water is caused by
Options:

. % Undissolved salts of Ca™ and Mg™

, % Undissolved salts of Cu™ and Mg™
3 Dissolved salts of Ca™ and ‘-_\-Ig+2

4 % Undissolved CaCO:s

Question Number : 93 Question Id : 80089419338 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A water sample contains 204 mg of CaSOy per Litre. Its hardness in terms of CaCOs equivalent 18
Options:

¢ P 150 ppm

> % 136 ppm

s$1a7T
3 % 204 ppm
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100 ppm

Question Number : 94 Question Id : 80089419339 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Hard water can block radiators due to the formation of?

Options:

, insoluble calcium and magnesium salts

_1nsoluble sodium salts

2.

3 % insoluble phosphate salts

4 % insoluble potassium salts

Question Number : 95 Question Id : 80089419340 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement from the following options.

Options:
The molecular weight of the polymer steadily rises throughout the reaction.

1 % in condensation polymerisation

5 In addition polymerisation. growth of chain is at one active centre.
Lad

.. No by product will be formed in the addition polymerisation

3. "
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The molecular weight of the polymer steadily increases throughout the reaction.

2. in addition polymerisation

Question Number : 96 Question Id : 80089419341 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following is a thermoplastic?

Options:

1. « Tetlon

o Natural rubber

Neoprene

M

4 % Buna-S

Question Number : 97 Question Id : 80089419342 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following a characteristic feature is of a good fuel?

Options:

1 % High moisture content

Should undergo spontaneous combustion

Low calorific value
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4« High calorific value

Question Number : 98 Question Id : 80089419343 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Producer gas 1s primarily a mixture of

Options:

1 o CO+N»
> 8 CO+H
3 » CO+CHs
g, u D2 tH

Question Number : 99 Question Id : 80089419344 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The measurement of dissolved oxygen used by microorganisms during the biochemical oxidation of organic

matter in 5 days at 20°C 15 said to be

Options:

, Biological Oxygen Demand

T

5 % Chemical Oxygen Demand

3 % Biological Dissolved Oxygen
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Threshold Oxygen Demand
4, %

Question Number : 100 Question Id : 80089419345 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following is a green house gas?

Options:
1.% Ho
2, 8 NV
3 e {:O

CO
4. &

Computer Science and Engineering
Section Id : 800894379
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and
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Clear Response:
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Sub-Section Id : 800894433

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 80089419346 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which gate’s output is equal to 1 if the input variables have an odd number of 1°s?

Options:
1 = NOR

e

NAND
XOR

~ XNOR

Question Number : 102 Question Id : 80089419347 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Which of the following gate acts as a controlled inverter?
Options:

NAND
1. %

EX-OR
2.

_ NOR
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_ EX-NOR
4, %

Question Number : 103 Question Id : 80089419348 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which Multiplexer IC is used for implementing a full adder or a full subtractor?
1) SN74151 i1) SN74153 1i1) 74LS151 iv) 74LS153

Options:
(1) only
V™

(i) &(iii)

o

_ (11) only
3. %

4 o ) &)

Question Number : 104 Question Id : 80089419349 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The simplified form of the following Boolean function
F(wx.y.z=>(0.1.2.4.5.6.8.9.12.13.14) is

Options:

}Fﬂ'_\lqlzi_xz'l
T
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w'Hw'x’+yz’

2. %

. X+WZ'+yz
3, %
4 % YHWZX'Z

Question Number : 105 Question Id : 80089419350 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0

Race around problem in a JK Flip flop 1s

Options:

Q=1 &Q =1

1%

Q=0 &Q=0
2. %

o Toggling more than once during a clock cycle

d | Q 1s neither a O nor 1

Question Number : 106 Question Id : 80089419351 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Logic gates with a set of inputs and outputs is arrangement of

Options:
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. Combinational circuit

Logic circuit
2. %

~ Design circuits
3. %

4 % Register

Question Number : 107 Question Id : 80089419352 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In which circuit, chain of flipflops 1s connected in cascade to receive a common clock pulse?
Options:
_demultiplexer
b
o Tegister

3 % counter

; q ~ - cr‘., "
4 shift register

Question Number : 108 Question Id : 80089419353 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

How many address lines does 80386 processor have?

Options:

1 % 16 bits
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24 Dbits

32 bits

Question Number : 109 Question Id : 80089419354 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which segment register of 8086 1s used to store the contents of the CPU registers which will be required at a later

stage?
Options:
1% Code segment register

Data segment register
2. "

3 % Extra segment register

Stack segment register
e :

Question Number : 110 Question Id : 80089419355 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
Which flag is used to indicate the signed arithmetic over flow condition?

Options:
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Cr

1. ™
AC

4. ¢ OF

Question Number : 111 Question Id : 80089419356 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the interrupt vector address of NMI in the 8086 Interrupt Vector Table ?

Options:

1 0008h

, % 0004h

3 % 0002h

_ 000Ch
4, %

Question Number : 112 Question Id : 80089419357 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(4021.2)s=( )10

Options:

1.%
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511.1

Question Number : 113 Question Id : 80089419358 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An interface that provides a method for transferring binary information between internal storage and external

devices 1s called

Options:

L [/O mtertace

5 % Input interface

3 Output interface

4 % VO bus

Question Number : 114 Question Id : 80089419359 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The idea of cache memory is based
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Options:

1 On the property of locality of reference

5 % on the heuristic 90-10 rule

3 % OB the fact that references generally tend to cluster

.. on the availability of slowest memories

Question Number : 115 Question Id : 80089419360 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
MIMD stands for

Options:

1 o Multiple Instruction Multiple Data

5> % Multiple Instruction Memory Data

Memory Instruction Multiple Data
3, "

4 % Multiple Information Memory Data

Question Number : 116 Question Id : 80089419361 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is concerned with the transfer of information between main memory and CPU?

Options:
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/O Processor
Ve ™

5 % Control register

Cache organization
Y

Stack organization
4, %

Question Number : 117 Question Id : 80089419362 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks: 0
Choose the incorrect statement about associative memory.

Options:

1 % It 1s a memory unit accessed by its content

5> % Itisuniquely suited to do parallel searches by data association

3 % It locates all words which match specified content and marks them for reading

. It is inexpensive than random access memory.

Question Number : 118 Question Id : 80089419363 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks: 0
A Stack-organised Computer uses mstruction of

Options:
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Indirect addressing

5 % Two-addressing

. Zero addressing

4 % Index addressing

Question Number : 119 Question Id : 80089419364 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s nof a token of C language

Options:

1 = Keyword

Identifier

3 % Operator

e, Comment

Question Number : 120 Question Id : 80089419365 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
In C. to assign an octal number to a variable. we need to begin the number with

Options:
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4. % 00

Question Number : 121 Question Id : 80089419366 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The output of the following code is:

#include <stdio.h=

int main()

{
int mark=35:
puts(mark >= 40 ? "Passed" : "Failed"):
return O:

}

Options:

1. ® Passed

5 Failed

.. Returns Ermror
3. %

4 % Conditional Termination

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Question Number : 122 Question Id : 80089419367 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A program pauses to take input when it encounters the function.

Options:

| printf()

) & scanf()

return()

exit()
4. %

Question Number : 123 Question Id : 80089419368 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the output of the program given?
#include <stdio.h>

int main ()

int a=25:
pl‘ille(_'"q 'Od".(a‘:‘: | o o L o e ))
return O:

1
J

Options:

Question Number : 124 Question Id : 80089419369 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the output of the program given?
#include <stdio.h>

int main()

int array[] = {10. 20. 30}:
printf("%d".-2[array]):

re<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>